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QUESTION 1

Which option is a user policy?
A. authentication

B. admin policy

C. call policy

D. Find Me

Correct Answer: B

QUESTION 2

Which three hybrid connectors allow Cisco Spark to be integrated with an on-premises solution? (Choose three.)
A. Calendar Connector

B. Call Connector

C. Calendar Aware

D. Directory Connect

E. Directory Service

F. Calendar Service

Correct Answer. ABD

QUESTION 3

What is the maximum number of Expressways that can be clustered?
A 2

B.6

C. 4

D.3

Correct Answer: B

QUESTION 4

Which statement about Microsoft Skype for Business interoperability with Cisco Meeting Server is true?
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A. Calls cannot be place between S4B and Cisco Meeting App users
B. Local directories can always be used between S4B users and CMA
C. Chat can be used between S4B and Cisco Meeting App users

D. Chat can be used between S4B and Cisco Meeting Server Spaces

Correct Answer: B

QUESTION 5

Which statement about integrating a Cisco Expressway with a resilient and scalable Cisco Meeting Server deployment
is true?

A. Neither Expressway cores nor Expressway edges can be integrated with Cisco Meeting Server.
B. Only Cisco Expressway cores can be integrated with Cisco Meeting Server.

C. Only Expressway edges can be integrated with Cisco Meeting Server.

D. Expressway cores and Expressway edges can be integrated with Cisco Meeting Server.

Correct Answer: D

QUESTION 6

What is the maximum network latency allowed between peers in a cluster?
A. 30 ms total

B. 300 ms total

C. 100 ms one way

D. 150 ms one-way

Correct Answer: A

QUESTION 7

Which two options are requirements to use OAuth access tokens with Cisco Spark? (Choose two.)

A. Tokens must request access to servers before applications register to Cisco Spark.

B. Servers must register to Cisco Spark as an application to request access tokens.

C. Applications can only request the access token when the authenticated user grants permissions to this service

D. Applications must register to Cisco Spark as a server to request access tokens.
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E. Services can request the access token only when the authenticated user grants permissions to this service.

Correct Answer: BC

QUESTION 8

Which protocol is used to communicate codec capabilities and Real-Time Transport Protocol ports?
A. Real-Time Transport Control Protocol

B. Session Description Protocol

C. H.460

D. Assent

Correct Answer: B

QUESTION 9

Where does an engineer lookfora list of all endpoints registered to an Expressway?
A. Status > Registrations > By Device

B. Configuration > Registrations > Registration List

C. Registrations can only be found in the CLI interface.

D. Status > Calls > Call History

Correct Answer: A

QUESTION 10
Which description of the role of the service preference in the Cisco Conductor is true?

A. It consists of a group of conference aliases and it determines, in order of priority, which alias to choose for a
conference.

B. It consists of one or more bridge pools and it determines which of these pools, in order of priority, to use for a
conference.

C. It determines the bandwidth that is supplied by the service provider.
D. It determines the conference template to be used for a particular conference based upon alias.

Correct Answer: B

QUESTION 11

500-710 PDF Dumps | 500-710 Study Guide | 500-710 Braindumps 4/6


https://www.leads4pass.com/500-710.html
https://www.leads4pass.com/500-710.html
https://www.leads4pass.com/500-710.html

https://lwww.leads4pass.com/500-710.html
2024 Latest leads4pass 500-710 PDF and VCE dumps Download

Cisco Meeting Server has several components that can be enabled to expand the functionality of the server. Which
component is used for interworking between different communication protocols?

A. web bridge

B. load balancer
C. TURN server
D. H.323 gateway
E. SIP edge

F. call bridge

G. XMPP

Correct Answer: D

QUESTION 12

Which two protocols are used in the H.323 standard? (Choose two.)
A. SDP

B. SIP

C. H.245

D. 802.1

E.Q.931

Correct Answer: CE

QUESTION 13

Which two statements about subzones are true? (Choose two.)

A. Endpointsare assigned to a particular subzone by their alias or IP subnet.
B. Subzones require the use of endpoint authentication

C. Subzones are used for routing calls to peers in other parts of the network.
D. Endpoints require the use of other endpoints for authentication

E. Subzones are used for bandwidth and authentication control of a logical grouping of endpoints within the registration
list of the Expressway

Correct Answer: AE

500-710 PDF Dumps | 500-710 Study Guide | 500-710 Braindumps 5/6


https://www.leads4pass.com/500-710.html
https://www.leads4pass.com/500-710.html
https://www.leads4pass.com/500-710.html

https://lwww.leads4pass.com/500-710.html

L eads 4 PGSS 2024 Latest leads4pass 500-710 PDF and VCE dumps Download

QUESTION 14

Which two methods can be used in TMSto schedule conferences? (Choose two.)

A. Administrative Tools > Configuration > Conference Settings
B. Booking > New Conference

C. Scheduling > New Conference

D. Reporting > Conferences

E. Monitoring > Conference Control Center

Correct Answer: AB

QUESTION 15

Which primary purpose of the traversal subzone is true?

A. to apply bandwidth restrictions on traversal calls

B. to enable firewall traversal between public and private endpoints

C. to provide for mobile remote access for endpoints outside the network
D. to encrypt traversal calls to neighbored Expressways

Correct Answer: B
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